Unit3 TEsT

f§ Complete the conversations with was, 4 Jane didn’t feel well yesterday.
were, wasn't, or weren’t. Complete the sentences with verbs in
the past simple from the box.
1 Teacher ... you at home
give  have listen play
yesterday, Peter? You e at stay  write
school.

Peter | didn't come because

2 Sally The potatoes ... OK!
Sue Yes, they . . But the

ol T CH— very nice!

2 Write the past simple of the verbs. Example

Example
play  played

visit

want .

arrive

need

drive

read

get
fall

1 She . any breakfast.
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& Complete the sentences.

Example w X
I'wasn't in school yesterday because | ) \\\\
was ill (lil) W) Nl
1 Aaachoo! Oh dear, I've got a 77\ 1(’\ &o 2

......................................................... (dolc)
2 Let me see ... 39.8. Yes, you've got a 2 Her mother

(rutemaperte). her some medicine.

3 Ineeda (stentid). I've

got toothache.

4 | ook at that big black
{sruibe) on your leg. How did you get it?

5 | feel terrible. | think I've got
(luf).
6 Mum doesn’t want to listen to our

music. She's got a
(deacheah). 3 She . to music
MARK ..... /6 in the afternoon.
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4 She aletter to a
friend.

b She a game
with her brother.

& Write the questions.

Example
| went to the dentist’s yesterday.  (Where)
Where did you go yesterday?

1 Cathy fell over and broke her arm. (How) '

2 | had chicken for lunch today. (What)

3 Paul went to the dentist's yesterday.
(Where)

4 The doctor came at six o'clock.  (When)

5 We went to school on Saturday.  (Why)
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6 Read the text and decide whether

sentences 1-10 are true (T) or false (F).

Today a barber and a surgeon do very
different jobs. A barber cuts people’s hair
and a surgeon is a doctor who works in a
hospital. So, if you want a haircut, you go
to the barber’s, but if you break a leg, you
need a surgeon!

But two hundred years ago things were
different. A barber was the man with the
knife — to cut beards and hair. But he was a
surgeon, too. Sometimes he used his knife
to cut arms and legs! Of course, there were
no anaesthetics in those days, so it hurt a
lot! Every barber’s shop had a red and
white sign outside, because red is the
colour of blood.

About a hundred and fifty years ago things
started to change. New hospitals opened,
and surgeons worked there, with
anaesthetics.

So barbers stopped cutting arms and legs.
But you can still see the red and white sign
outside some barbers” shops today.

A barber cuts harr. ...
A surgeon cuts hair. ...
Surgeons work in hospitals. ...
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Two hundred years ago barbers were
SUrgeons. .........

a1

They worked with knives. ...
6 There was a red and white sign outside
barbers’ shops. .........
7 Barbers cut off peoples’ heads. ...
8 Today things are different. ...
9 Surgeons today don't work with
anaesthetics. ...
10 Today there aren't any barbers. ...
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(TOTAL ....../ 40)




